


1   2   3   4   5   6   7   8   9   

F 
  

E 
  

D 
  

C 
  

B 
  

A 
  

20x30x1700 wood beam 

10x10x730 aluminium beam 

Tension cable 

Tension strut

Joiner

Nail

M5x35
M5 Self locking nut
washer on both sides

M3x35
M3 self locking nut
washer on both sides

The cutting wire must be 
electrically isolated from the 
supporting arc

Note: the wire must be installed
when the arc is already on the main
machine frame

Wire support arc assembly

Open Source Foam Cutter 

Scale n/a   

OSFC 0.2 Page 19 of 22

Press fit

Arc guide slider

Glue
at 16 mm



1   2   3   4   5   6   7   8   9   

F 
  

E 
  

D 
  

C 
  

B 
  

A 
  

End stop installation

Open Source Foam Cutter 

Scale n/a   

OSFC 0.2 Page 20 of XX

3mm threaded rods

Microswitch

Actuator

xx



1   2   3   4   5   6   7   8   9   

F 
  

E 
  

D 
  

C 
  

B 
  

A 
  

Open Source Foam Cutter 

The STL files are not distributed directly, it's necessary to generate 
them using OpenSCAD: an open source, multi platform, solid 3D 
CAD modeller. Download it from:

www.openscad.org

Download the file OSFC-Oscad-0.2 and uncompress to a 
convenient location. Install the OCR-A fonts since they are used to 
generate the logos on the parts.

Open the file OSFC-0.2.scad

STL creation workflow:

- Select the parts setting the render flags
- Preview the result
- Render the result
- Export the STL file using the file - export - export as STL 
command.

We recommend printing the calibrator part first, check that the 
tolerances are OK and then go ahead with the other parts. The 
OpenSCAD file has comments that explain how to tweak the 
parameters.

Generate the STL files

Scale n/a   

OSFC 0.2 Page 21 of 22

Render

PreviewRender flags

LM8UU slot

LM12UU slot

Screw and bolts
screws should go
through free, bolts
should fit tightly

Zip tie channels

Tempered shafts slots
look for a tight fit



1   2   3   4   5   6   7   8   9   

F 
  

E 
  

D 
  

C 
  

B 
  

A 
  

Item   Description Qty Item   Description Qty Item   Description Qty 

1 3x50 self tapping screw 16 

2 3x40 self tapping screw 16 

3 M5x45 socket head screw 16 

4 M5 x 15mm washer 26

5 M5 self locking nut 26

7 M4x40 socket head screw 8

8 M4x25 hexagonal head screw 4 

9 M4x20 hexagonal head screw 4 

10 M4 nut 4

11 M4 blind nut 4 

12 M4 self locking nut 10

13 M4 washer 6

14 M3x10 socket head screw 18 

6 M5 nut 6

15 M3x20 socket head screw 8 

16 M3 washer 10

17 M3 nut 8

18 M3 self locking nut 10

19 M5x660 Threaded rod 2 

20 M5x520 Threaded rod 2 

31 12x800mm tempered steel shaft 4 

32 8x550mm tempered steel shaft 4 

33 LM12UU linear motion bearing 8 

34 LM8UU linear motion bearing 4 

35 F625ZZ flanged ball bearing 10

36 6254ZZ ball bearing 4 

37 5x5mm flexible joint 2 

38 GT2-2mm 18 teeth aluminium pulley 6 

39 0.8A Nema 17 stepper motor 4 

40 Micro size switch 4 

61 Tempered shaft support - LF 2* 

62 Tempered shaft support - LR 2

63 Tempered shaft support - HF 2

64 Tempered shaft support - HR 2

65 Reduction gear support 4

66 GT2-2mm 99 teeth ABS pulley 2

67 Belt Tensioner 4

41 6x260mm closed loop GT2 belt 2

68 Stepper motor support 2

69 AX Carriage - low 2*

70 AX Carriage - high 2

71 BY Carriage 2*

72 End stop actuator 4 42 GT2 belt, 1600mm 4 

21 M5 x 10 mm washer 8

Hardware Store CNC Hardware Store 3D printed parts 

Item   Description Qty 

91 20x30x800 wood side frame top 2 

Miscellaneous 

92 20x30x800 wood side frame bottom 2 

93 20x30x650 wood side frame front 2 

94 20x30x650 wood side frame front 2 

95 20x30x1320 wood frame connectors 4 

96 Cutting Bed 1 

97 Wire support blade 2 

74 Arc Joiner - 20x30 4 

75 Arc tension strut 2 

76 Arc reference plug 90° 1 

23 M3x35 Socket head screw 2 

98 20x30x1700 wood arc main beam 1

99 10x10x730 aluminum arc sides 2

24 M5x35 Socket head screw 4

25 Soft steel nails 2

Open Source Foam Cutter 

Scale n/a   

OSFC 0.2 Page 22 of 22

77 Arc guide slider 1 

26 M3x45 Threaded rod 4
100 6x650mm carbon fiber arc guide 1

78 Arc guide foot 1 

27 M4x45 socket head screw 2


